Efficiency vs Dxy(PV)
0.5

g
=0.09)
x
kel

Y A

5 10 15 20
TP dxy(PV) (cm

= Coriginal_step. ar-phasel-newgeom
—e— DQM_mkFit_step2_tthar-phasel-newgeom

—— DQM_angle_step2_ttbar-phasel-newgeom

— —— DQM_fast_step2_ttbar-phasel-newgeom

I Efficienc] —— DQM_pixelCPEGeneric_step2_ttbar-phasel-newgeom

< 0.5

>

298060402 0 02 04 06 0.8
TP dxy(PV) (cm)

<005
%.045
kel
20.04
>
3,035
8
Q
So03
()
0.025
0.02
0.015
0.01
0.005
0

Ratio
.
T

10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


